Temperatures East to West

Finally, we will investigate possible differences in average water temperatures moving East to West
across the southern United States. The data set SWater/ulyTemp.txt contains average water
temperatures for sites in the southern Atlantic, east and west Gulf Coast, and southern Pacific.

What differences do you expect to see between these four regions? Sketch what you think a multiple
comparisons output would reveal (i.e. make a prediction).
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Open the data set, stack the variables, and make a comparative boxplot. What do you see from the
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Conduct the appropriate test to determine if there are differences in average water temperatures
between these four regions and where those differences are if present.
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You may assume the assumptions hold. 1 - M /%70

Teststat: & 7936 = F p-value: 4. 659 X /o -3

Interpret your p-value.
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Conclusion:
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Multiple Comparisons summary (if appropriate):

Freipe b0 cldec Hom all He .

A, moorg. The otheus are PCS  ACS blw  6CE

NOT axgn. olff. o oy

How accurate was your prediction?
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Are Weights of Poplar Trees Affected by Different Treatments on Average?

(Data from Triola)

Random samples of poplar trees were subjected to 4 different treatments: no treatment, irrigation,
fertilizer, and both irrigation and fertilizer. Each random sample consisted of 5 trees. The following
partial ANOVA table was constructed. Assuming the assumptions for ANOVA are met, complete the
table, perform the ANOVA and provide a conclusion to the question asked above.

DF SS MS F p-value
BM Treatment 3 ,__I, 0% /. 56 5.73 .007
(A)}W\m Residuals 16 4,357 4272 - -
Total jq q 0377 - - R
Hypotheses: Mo at, = ly = My = Uy significance level: o = ,0
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Assumptions: (Assume they hold, but list here in context.) '/"‘"’
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Teststatisticc. [~ = 5,73
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Sketch and label the distribution used to compute the p-value.

Conclusion:
5.73
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Does the ANOVA output allow you to conclude that irrigation and fertilizer combined perform better
than the other three methods? Sketch an example multiple comparison summary that would allow you

to make this conclusion.
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